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I believe there are many reasons why the total fertility rate of Japan keeps falling. One reason is
that many young people hesitate to get married because marriage does not look beneficial anymore
in our modern society. For men, who had traditionally expected women to prepare meals, they can
buy meals any time at convenience stores. For women, who had traditionally expected men to
support their life economically, marriage is a burden for them. They prefer to enjoy their freedom.
Another reason is the access to higher education, which led to getting married later in life. Many
years ago, both men and women tied the knot right after high school. Recently, however, more than
70 percent of high school graduates go to university. Well-educated people are more career oriented.
If they get married and raise children in their twenties, they think they will sacrifice their careers

due to the burden of childcare.
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